
Practice Questions for Class-6th (Term-1) 
 

ਆ਩ਣੀਆਂ ਷ੰਖਿਆਵਾਂ ਨੰੂ ਜਾਣਨਾ 
1) i/eo a ns/ b d' gqkfeqfse ;zfynktK j'D sK j/m fbZfynK ftZu'A fejVk eEB ;jh BjhA j?< 

    If a and b are two natural numbers, then which of the following is not true? 

a) a+b=b+a       b)  ab=ba         c)  a-b=b-a         d) fJjBK ftZu'A e'Jh Bjh (none of these) 

 

2) bgYr duhrwauNdy hoey idq̀y hoey AMkW nUM vrq ky cwr AMkW dI ;G s'A v`fI sMiKAw ilKo:5,4,0,3 
Find four digits largest number without repeating the digits using given digits: 5,4,0,3. 

a) 0543                 b)5430              c) 5043                d) 5034 
 

3)   10109 dw ipCyqr hY: Predecessor of 10109 is: 

a) 10108       b)      10101       c) 10110     d)     10111 
 

4) nzsookPNoh b/yD gqDkbh ftZu 1000000 B{z gfVQnk ikt/rkL In international number system 1000000 will be 

read as: 

1)    fJZe bZy(One lakh)         2)  fJZe fwbhnB(One million)     
3)      fJZe ;" jiko(One hundred thousand)  4)     d; bZy(Ten lakh) 

 

5)  534 dk djkJh nze d/ ;EkB sZe fBeNheoB j't/rkL Approximate value of 534 nearest to ten’s place is: 

1)  500         2)  530        3) 600       4)    540 
 

6) j/m fbZfynK ftZu'A fejVk noEjhD j?< Which of the following is meaningless? 

    1)   L       2)     LXIX     3)    XIC      4) LX  

7) T[j gqkfeqfse ;zfynk fi;dk e'Jh fgS/so BjhA j[zdkL 

      The  natural number which has no predecessor is: 

      a)  1        b)  0            c) 3           d) 2 
 

਩ੂਰਨ ਷ੰਖਿਆਵਾਂ 
 

8)  g{oB ;zfynktK d/ bJh HHHHHHHHHHH r[Dkswe ss;we j?.  
    For Whole Numbers ............. is Multiplicative Identity. 

         a)   0                   b)   1                         c)   2                               d)   -1 

9)   fdZsk fuZso ;zfynktK d/ i'Vcb d/ fejV/ fB:w B{z do;kT[Adk j?<  

        Which rule of addition of two numbers is shown by given figure<  

a) eqw tNKdok gux (Commutativity Property    b) vMfkwrI gux Distributive Property          
c)  ;fjukosk gux Associative Property             d) iehnW iv`coN koeI nhIN( none of these) 
 

10) Dot pattern of number 9 represents which of the following shape? 

ਸੰਖਿਆ 9 ਦਾ ibMdUAW dw ਨਮੂਨਾ ਹ੃ਠ ਖਦਿੱ ਖਿਆਂ ਖਿਚੋਂ ਖਿਹੜਾ ਆਿਾਰ ਦਰਸਾਉਂਦਾ ਹ੄? 

 (a) Rectangle (ਆਇਿ)  (b) Line (ਰ੃ਿਾ)  (c) Square (ਿਰਗ)    (d) Triangle (ਖਿਿ੅ਣ) 



 

11) 7÷0= 

a) 0                                  b) 7                                   c) not defined(ਪ੍ਰਭਾਖਿਿ ਨਹੀਂ)                              d) 1 

12) Which of the following will not represent 0? ਹ੃ਠ ਖਿਖਿਆ ਖਿਿੱ ਚੋਂ ਖਿਹੜਾ ਖਸਫ਼ਰ ਨੰੂ ਨਹੀਂ ਦਰਸਾਉਂਦਾ? 

(a) 1+0 (b) 0x0 (c)  0/2 (d) (10-10)/2 

13)The difference of largest number of three digit and smallest whole number is : 
ਖਿੰਨ ਅੰਿਾਂ ਦੀ ਸਭ ਿੋਂ ਿਿੱ ਡੀ ਸੰਖਿਆ ਅਿ੃ ਸਭ ਿੋਂ ਛ੅ਟੀ ਪੂ੍ਰਨ ਸੰਖਿਆ ਦਾ ਅੰਿਰ ਹ੅ਿ੃ਗਾ:  
(a)  998            (b) 997   (c)  996 (d) 999 
 

਷ੰਖਿਆਵਾਂ ਨਾਲ ਿ੃ਡਣਾ 
 

14) uko nzeK dh tZvh s'A tZvh ;zfynk dk nGki r[DByzvheoD j't/rkL 
    What is the prime factorisation of greatest 4-digit number? 

       a)  3×3×11×101     b)  9×11×101    c)  3×33×101     d)  3×3×11×11 

15)  j/m fdZfsnK ftZu'A fejVh ;zfynk 9 Bkb Gki:'r j?< 

    Which of  the following number is divisible by 9? 

    a)    15287       b)     15267       c)     15286         d)      154638 

16) j/m fbZfynK ftZu'A fejVh fJZe nkdoP ;zfynk j?< 

     Which of the following number is a perfect number? 

     a)    8              b)    6              c)   28                  d)    9 

17) The only even prime number is: ਷ਭ ਤੋਂ ਛ੅ਟੀ ਖਜ਷ਤ ਅਭਾਜ ਷ੰਖਿਆ ਖਿਸੜੀ  ਸ੄? 

    (a) 2  (b) 4  (c) 3  (d) 1 

18) If a  and b  are two co-prime numbers then  their H.C.F. is : 

jykr Aqy  do sih-ABwj sMiKAwvW hox qW iehnW dw m. s. v. hovygw: 

a) A  b)  b  c) a×b   d) 1 

19) ie`k ABwj sMiKAw dy ikMny guxnKMf huMdy hn?  

       How many factors does a prime number have?  

       a)  1              b)    2                   c)    3               d) iehnW iv`coN koeI nhIN( None of these)   

ਮੁਢਲੀਆਂ ਰ੃ਿਾ ਗਖਣਖਤਿ ਧਾਰਨਾਵਾਂ 
20) j/mK fdykJ/ rJ/ fuZsoK ftZu'A fejVk fuZso fe;/ o/ykyzv d/ bzp ;wd[Gkie B{z do;k fojk j?< 

      Which of the following figure represents perpendicular bisector of a line segment? 

 
 
    a)   fuZso 1 (Figure 1 )                         b)   fuZso 2   (Figure 2)  
    c)   fuZso 3 ( Figure 3)                           d)  fuZso 1 ns/ 2 (Figure 1 and  2) 

ic`qr-1                ic`qr-2    ic`qr-3 

 

 



      

21)  fuZso ftZu fdZs/ e'D dw ਖਸਿਰ fpzd{ fejVk j?L      

Whic is the vertex of given angle in the figure?   
a)   A                 b)    B                    c)    T                         d)     N 

 

22) j/mK id`qIAW ftZu'A fe; A~Kr ftZu 3 e'D jB<Which of  the following  letter has 3 angles? 

  a)  V  b) W   c) X   d) O 

23) fuZso nB[;ko o/b gNVQh dhnK bkJhBK gixq iv`c fejVhAW o/yktK B{z do;kT[Adh j?< 

Railway track shown in the figure, represents which lines in mathematics? 

  a) ;wKso o/yktK (Parallel lines)  b) ekNthnK o/yktK ( Intersecting lines) 

  c) bzp o/yktK (Perpendicular lines)  d) fJjBK ftZu'A e'Jh Bjh ( none of these) 
 

24) fuZso B{z fXnkB Bkb d/y e/ dZ;' fe fezB/ fyvkoh ;wo/yh jB< 

By observing figure carefully, tell how many players are collinear? 
  a) 3   b) 4  c) 5  d) 6 
 

25) s[jkvh iw?Noh pke; ftZu d' ;?N ;e/no j[zd/ jB, eh s[;hA dZ; ;ed/ j' fJj fse'D dh  fejVh fe;w do;kT[Ad/ 

jB< 

In your geometry box there are two set square, Can you tell these shows which  type of 

triangle? 
 

a) fBT{B e'D fse'D (acute angled triangle)       b)  ;we'D fse'D (right angled triangle)   

c)nfXe e'D fse'D (obtuse angled triangle)       d) fJjBK ftZu'A e'Jh Bjh (none of these) 
 

਷ੰ਩ੂਰਨ ਷ੰਖਿਆਵਾਂ 
26) ;zg{oB ;zfynktK ^5, ^3, 0 ,---- dI lVI iv`c AglIAW iqMn sMiKAwvW d`so[ 
        What are the next three numbers in the following series -10, -8, -6 ,_ _ _  

        a)  -4,-2,-1     b)  -4,-2,0    c)  -6,-2,1    d)  -4,-2,1 

 

27)  fdZsh ;zfynk o/yk ‘qy hyT ilKIAW ftZu'A fe;B{z do;kfJnk frnk j?<  

          1)  4+7          2)       7-4            3)    -4+7            4)       -4-7 
 

28) Which one is the next term of given pattern ?  hyT ilKy pYtrn iv`c Aglw pg ikhVw hovygw? 

3-3=0,  3-2=1,  3-1=2,  3-0=3 
 ……… 

A) 4-0=4  B) 4-4=0  C) 3-(-1) =4  D) 2-2=0 
 

29) The largest negative integer and the smallest positive integer when  added becomes ... 

sB qoN v`fI irxwqmk sMpUrn sMiKAw Aqy sB qoN CotI Dnwqmk sMpUrn sMiKAW dw jdoN joV  kIqw jWdw hY qW, 
bxygw… 

    a) 1  b) -1  c) 0   d)     can't be determined/pqw nhIN kIqw jw skdw 
 

 



30) The number of integers between -2 and 2 is: -2 ਅਿ੃ 2 ਦ੃ ਖਿਚਿਾਰ ਖਿੰਨੀਆਂ ਸੰਪੂ੍ਰਨ ਸੰਖਿਆਿਾਂ ਹਨ? 
(a) 5 (b) 4 (c) 3 (d) 2 

31) Which of the following number is greater than – 1 ? ਹ੃ਠ ਖਿਖਿਆਂ ਖਿਿੱ ਚੋਂ ਸੰਖਿਆਿਾਂ ਖਿਿੱ ਚੋਂ ਖਿਹੜੀ ਸੰਖਿਆ -1 ਿੋਂ ਿਿੱ ਡੀ 

ਹ੄? 

(a) – 2 (b) – 10 (c)  0 (d) – 3 
 

ਖਭੰਨ 

32) fejVk 1

5
−

1

6
 B{z jZb eoB dk ;jh sohek j?< 

      Which of the following is correct method to solve 
1

5
−

1

6
 ? 

     a)   
1−1

5−6
     b)   

1

5−6
   c)   

6−5

5×6
    d)   

5−6

5×6
 

  

33)   2 s'A 19 sZe nGki ;zfynktK dh 2 s'A 19 sZe ku`l sMiKAwvW nwl fGzB eh j't/rh< 

      What will be the fraction of prime numbers from 2 to 19 with total number from 2 to 19 ? 

    a)    9/18          b)      8/18           c)     8/19           d)     9/19 
 

34)  fdZs/ fuZso ftZu     dk w[Zb j?L 
          For the given figure choose the correct value to be filled in        : 

           a)   30        b)    35        c)    40         d)     45 

 

 

35) Mother made a round cake. She divided it into 5 equal parts. Seema ate a piece of it and her sister ate two 

pieces. How much cake is left? 

ਮਾਂ ਨੇ ਗ੅ਿਿਾਰ ਿ੃ਿ ਬਣਾਇਆ ।ਉਸਨੇ ਉਸਨੰੂ ਪੰ੍ਜ ਬਰਾਬਰ ਭਾਗਾਂ ਖਿਿੱ ਚ ਿੰਡ ਖਦਿੱ ਿਾ।ਸੀਮਾ ਨੇ ਉਸ ਖਿਚੋਂ ਇਿ ਟੁਿੜਾ ਿਾ ਖਿਆਅਿ੃ 

ਉਸਦੀ ਭ੄ਣ ਨੇ ਦ੅  ਟੁਿੜ੃ ਿਾ ਿਏ ਦਸ੅ ਹੁਣ ਖਿੰਨਾ ਿ੃ਿ ਬਖਚਆ ??  

a) ⅗         b) ⅘        c) ⅖          d) ⅕  

36)  ਖਦਿੱ ਿ੃ ਖਭੰਨਾਂ ਦਾ ਅਗਿਾ ਸਮਾਨ ਖਭੰਨ ਪ੍ਿਾ ਿਰ੅:    The next equivalent fraction of the given fractions: 

                             1
2
  , 2

4
, 3

6
, 4

8
,....      

a)   
7

14
                                         b)  

6

12
                       c) 

15

5
                     d) 

5

10
 

ਦਸ਼ਮਲਵ 

37) fuZso nB[;ko K dk w[Zb eh j't/rk< 

     What will be the value of K in given figure? 

 

 

 

       a)   6.9      b)    7.8     c)      7.4    d)    fJjBK ftZu'A e'Jh Bjh (none of these) 
 

 
 



38) 3
3

5
  dk dPwbt o{g j't/rkL 

     What will be the decimal representation of 3
3

5
  ? 

     a)      3.06       b)      3.60        c)      0.36      d)      36.0 
39) 15 mI. = HHHHHHH ik.mI.(15 m= HHHHHH km) 

      a)        0.015        b)       0.15     c)      1.5      d)   15 

40) j/m fbfynK ftZu'A ikhVI dPwbt sMiKAw ;G s'A CotI  j?< 
     Which of the following decimal number is smallest? 

              a)       0.17         b)        0.017      c)      1.7      d)       0.107 

41) Amn B/ fJZe vsqU 40.35 o[gJ/ dh yohdh. T[;B/ d[ekBdko B{z 50 o[gJ/ fdZs/, d[ekBdko B/ T[;B{z fezB/ o[gJ/ 
tkfg; ehs/< 

       Aman bought an article  for  Rs 40.35 .  He gave  Rs 50  to the shopkeeper. How much money did he get 

back from the shopkeeper?  

    a) 9.35 Rs       b) 9.65 Rs      c) 8.65 Rs       d) 10.65 Rs   
਷ਮਖਮਤੀ 
42)  Ppd EXPERT ftZu fejV/ nZyo dhnK b/NthA ns/ yVthA d't/A ;wfwsh o/yktK jB< 

      In word EXPERT, which letter has its both horizontal and vertical symmetry lines? 

       a)     X                b)     E                 c)        R                 d)      T 

43) fdZs/ fuZso dhnK fezBhnK ;wfwsh o/yktK jB< 

     How many lines of symmetry are there for the given figure?   

     a)       4         b)         3            c)          2         d)        1 

 
 
44) j/mK fdZs/ fuZsoK ftZu'A T[j fuZso u[D' fi; ftZu dkB/dko o/yk nB[;ko fuZso ;wfws j' ikJ/L 
Which of the following figure is symmetrical above dotted line..? 
a)                                 b)                                  c)                                    d)  

 

45) ie`k ibKmBujI iqRBuj dIAW _______ smimqI ryKwvW huMdIAW hn[ 

    A scalene triangle has ________ lines of symmetry. 

     a) 1        b) 0       c) 3      d) AnMq Infinite 


